3 aal) 2amta a gil)

ok & - 24

sl

Sx+ 2+ 6x)(4x— 1)(x—2)

(6x° — 4)(6x — 4) + 2% —x — 3

(5x—5)(5x + 3)(4x + 2)

(6x° — x—2)(2x + 6) — 4x — 3

(6x° + 2x + 4)(2x — 4) — 1 x 4x + 3

Al

(4x — 1) — Sx— 4) + (6x + 2)(x — 4)

(6x° — 5x— 5)(6x+ 4)— 1 x 3x+ 3

4x+ (1 —2x)(4x — 3)(x — 6)

Sx+ (4 + 5x)(2x — 6)(6x + 6)

(*+6)(5x—5)— 2% +4x — 1
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ok & - 24

3 aal) 2amta a gil)

ol

Sx+ (2+6x)(4x— 1)(x—2)
24x> — 46x% —x+ 4

(6x° — 4)(6x —4) + 2% —x— 3
36x° — 22x% — 25x + 13

(5x—5)(5x + 3)(4x + 2)
100x° + 10x° — 80x — 30

(6x% — x—2)(2x + 6) — 4x — 3
122 + 34x% — 14x— 15

(6% + 2x + 4)(2x — 4) — 1 x 4x+ 3
120> — 206% —4x— 13

Al

(4x— 1)(® — 5x— 4) + (6x + 2)(x — 4)
43 — 15x% — 33x— 4

(6x% — 5x— 5)(6x+ 4)— 1 x 3x+ 3
36x° — 62 — 53x— 17

4x+ (1 —2x)(4x — 3)(x — 6)
—8x° + 58x% — 59x + 18

Sx+ (4 + 5x)(2x — 6)(6x + 6)
60x° — 72x° — 271x — 144

(o + 6)(5x—5) — 2% +4x — 1
5¢ — 7 + 34x — 31
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